Model Question Paper
Class-XII (Session : 2020-21)(S08)

Subject-Mathematics

Time Allowed : 3 hrs Maximum Marks : 100

Special Instructions:-

Same as that of Previous Years Annual question paper (SOS) March 2020.

(1) Question numbers 1 to 10 are multiple choice questions of 1 mark
each. Q. no. 11 to 14 are 3 marks each. Q. no. 15 to 26 are of 4
marks each and Q. no. 27 to 31 and of 6 marks each.

(i) All questionsare compulsory.

(i) 30% more internal choices have been provided from 70% of'the syl-
labus, as 30% syllabus has been deleted due to COVID-19 Pandemic
for the session 2020-21 only.

1. IfSin!'x=ythen 1
—T 0
@ 0<y<nm 0) 5 <y<3
(c) O<y<m d O0<y<m
2. If Aissymmetric as well as skew symmetric matrix then 1
(a) Aisdiagonal matrix (b) A iszero matrix
(¢) Aisunitmatrix (d) none ofthese.
3. Thederivative of Sec™' x is 1

1 —1
(@) ‘x‘xfl—xz (b) |x|\(1—x2

1
(c) ]x| m (d) none of these
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. The slope of normal to the curve y=2x>+2sinx atx=01is 1

1 -1
(@ 3 (b) 3 (@) == (d 3

dx
f [ox — 4x2 equal to 1
8x — 9] L
9

lsin‘l —gx_g]—J—c —l—silf1 [9X—8]—|—c
(©) 3 3 (d 5 3

. The number of arbitrary constants in particular solution of a differential

1

lsin"[gx_g]-i—c lsin’
(a) 9 g (b) 7

equation of fourth order are 1
(a) 3 (b) 4 (c) 0 (d) 2
! Thevalueofi(jXE)ﬂ—}.(inz)—Hﬂi.(ixj) 1
(@ 0 (b) -1 (c) 1 d 3
. If 5 isanon zero vector of magnitude aand ) , anon zero scalar,
then ) 4 isa unit vector if 1
1

@ Xx=1 (b A=—1 (c) a=|\]| (d)a:N

. Ifaline has directionratios (2,— 1,—2) then its direction cosines will be
o ret =1 T, oy R N
33 3 3 3" 3
221

©) <—?,§,5> (d) NOT
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10.

11.

12.

13.

14.

15.

6 5 7
IfP (A)=1;,P(B)= 1] and P(AuB):l— thenP (ANB) is 1

1 1
= T ©s @
11 11 11 11
1 3] |y 0] |5 6
Findxanyifzo s + 1 2]:!1 8] 3
Or
-2 3 -1 0
IfA' = 1 21 2 then find (A+2B)'
Find the value of K so that the function fis continuous at indicated point. 3
kx+1, x<5
Ex)= {BX—Slfx>5 g=>

Or
1iferentiate Cos { VX | w.r.t X.
Differentiate Cos (v/x

Find the interval in which the given function is strictly increasing or de-

creasing for f (x) =6—-9x—x2 3
Find the general solution of the differential equation 4
dy vy _ > |
A + = X"
dx x
Or

Find the general solution of differential equation

sec’ x tany dx +sec’ y tan x dy =0

Show that the relation R in the set {1,2,3} given by R= {(1,2), (2,1)}
is symmetric but neither reflexive nor transitive. 4
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16.

17.

18.

19.

Find g of & fog if.
£(x)=8x*and g(x)= 3

Brove that Cagi™ e et d e 90 4
rove that Cos: ™~ = 5 T
Or
can-1[_COSX ]_3_1r .
Express R 5 Inthesimp est form.
By using the properties of determinants prove that 4
1 x X
1/ E = (1 =g )2
x x> 1
Or
A 3 7 iB 6 8
= an = 1 -1 =1-1 A-Il
If 7 5 7 9 verify (AB)'=BTA
Find £ of (log x)Coss 4
dx -
Or
Find C ifx =at’ and y =2at
dx’ 4 ’
Evaluate f L g 4
14 tan x
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20.

21.

22

23

Or

1
Evaluate:- f Paimls dx

X

Evaluate:- f x—1) (x—2) (x—3) dx 4
Or

X

X
(1+x)
Using properties of definite intergral. 4

Evaluate:- f

« 4
sin” x dx

Evaluate:- | —F———
Sin"x +Cos™x

o%wl:t

Find the general solution of the differential. 4
equation (x* —y?) dx +2xydy =0

Or
Find the particular solution of the differential equation

d—y—E-ZytanX:sinx,y:OWhere x:1

dx 3
If a=2i+2j+3k,b=—1i+2j+kandc=3i+ ] are such that

a -\ b is perpendicular to ¢ then find the value of ) . 4

Or
Find the area of parallelogram whose adjacent sides are given by vec-

tor55:3§+3+412and13:§—3+]"(
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24.

.4 A

26.

27.

28.

29,

30.

Find the values of P so that the lines. 4
l-x Ty—14 z—3 T—=7x y=§ 6—%

3 2p 5 and 3p 1 - 5 areat right
angles.
Or
Find the equation of the plane with intercepts 2,3 and 4 on the x,y,z-
axis respectively.

A dieis thrown. If E is the event ‘the number appearing is multiple of 3

and 4’ F be the event the number appearing is even then find whether E

and F are independent? +

From alot of 30 bulbs which include 6-defective, a sample of 4-bulbs

in drawn at random with replacement. Find the probability distribution

of the number of defective bulbs. 4
Or .

Find the probability of throwing at most 2 sixes in 6 throws of a single

die.

Solve the following system of linear equation using matrix method. 6

2x—3y+5z=11,3x+2y—-4z=-5;x+y—2z=-3.

Find two positive number x & y such that their sum is 35 and the prod-

uct x%y? is maximum. 6
Or

Prove that the curve 5x =y? and xy=k cut at right angle it 8k>=1.

Using the intergration find the area of region bounded by the triangle

whose vertices are (1,0), (2,2) and (3,1). 6
Or

Find the smaller area enclosed by the circle. x*> +y? =4 and the line x +

y=2

Find the shortest distance between the lines 6
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31.

x+1 _ y+1 _ z+1andx—3:y—5 =z—7
7 —6 1 1 —2 1
Or
Find the equation of plane passing through the point (-1,3,2) and per-
pendicular to each of the planes x + 2y + 3z=5and 3x + 3y +z=0
Maximize z=3x + 2y
Subject to constraints
x+2y< 10
3Ix+y<l15
x>,0,z2>,0
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